
3,    +     7,    +     11,    +      _____,    +      _____,    +      _____

8,         14,         20,          _____,          _____,          _____

7,         10,         13,          _____,          _____,          _____

11,         14,         17,          _____,          _____,          _____

6,         8,         10,          _____,          _____,          _____

Find the sum of the first sixth terms of the sequence.

2,    +    4,   +    6,    +      _____,    +      _____,    +      _____

2,         6,         10,          _____,          _____,          _____

3,         10,         17,          _____,          _____,          _____

8,         13,         18,          _____,          _____,          _____

7,         14,         21,          _____,          _____,          _____

11,         17,         23,          _____,          _____,          _____

8,         7,         6,          _____,          _____,          _____

7,         2,         -3,          _____,          _____,          _____

11,         8,         5,          _____,          _____,          _____

6,         5,         4,          _____,          _____,          _____

=

=

=
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𝑠௡ =
𝑛

2
⎯⎯(𝑡ଵ + 𝑡௡)

𝑡ଵ =

𝑑 = 𝑑 =

𝑡௡ =

𝑠௡ =
𝑛

2
⎯⎯(2𝑡ଵ + (𝑛 − 1)𝑑)

Sum of "𝑛" 
terms formula: 
if 𝑡௡ is known.

Sum of "𝑛" terms 
formula: if 
𝑡௡ is not known.

𝑑 =  𝑡௡ − 𝑡௡ିଵ 𝑑 =  𝑡௡ − 𝑡௡ିଵ

𝑠௡ =
𝑛

2
⎯⎯(2𝑡ଵ + (𝑛 − 1)𝑑)

3   , 5   ,  7   ,____ ____ ____                   
𝑡ଵ 𝑡ଶ 𝑡ସ

++

𝑑 =  𝑡௡ − 𝑡௡ିଵ

____                   
𝑡ଷ

____                   
𝑡ହ

____                   
𝑡௡

, …..

OR

𝑛 = 1 𝑛 = 2 𝑛 = 𝑛

? ? ?

𝑛 = 3

𝑠௡ =
𝑛

2
⎯⎯(𝑡ଵ + 𝑡௡)

𝐶ℎ𝑒𝑐𝑘 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟: 3 + 5 + 7 +

𝟒. 𝑾𝒉𝒂𝒕 𝒊𝒔 𝒕𝒉𝒆 𝒔𝒖𝒎 𝒐𝒇 𝒕𝒉𝒆 𝒇𝒊𝒓𝒔𝒕 𝒕𝒘𝒆𝒍𝒗𝒆 𝒕𝒆𝒓𝒎𝒔 𝒔𝟏𝟐? 𝒔𝟏𝟐 =? , 𝒏 = 𝟏𝟐.
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Find the sum of the first 12 terms. 𝒔𝟏𝟐 =? , 𝒏 = 𝟏𝟐

3,         7,         11,         15,          ….

Find the sum of the first 18 terms  

7,         10,         13,          …

Find the sum of the first 100 terms.

Find the sum of the first 251 terms.

   14, 38, 62, 86, …

8, 14, 20, 26, 32 6, 13, 20, 27, 34

5, 11, 17, 23, 29

10, 8, 6, … 3, −1, −5, . . 5, 2.5, 0, …

1

2
⎯⎯,

3

2
⎯⎯,

5

2
⎯⎯, …

9

2
⎯⎯,

7

2
⎯⎯,

5

2
⎯⎯, … . 27, 13, −1, …
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Find "n" the number of terms

-25, -42, -59,……….-569

15, 16, 17, 18, 19 … … … 100 4, 8, 12, 16, 20 … … . . 444

13, 15, 17, 19, … … … .273

8, -6, -20,……….-160

3, 5, 7, 9, 11 … … … . . 139

9, 12, 15, 18, 21 … … … .3342 2, -2, -6, ………-410

𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑

𝑡௡
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Find n and the sum.

12 + 18 + 24 +  … + 72
8 + (−2) + (−12) +  … + (−102)

10, 12, 14, … … .88
14, 19, 24, 29, 34 … … 99

𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑 𝑠௡ =
𝑛

2
⎯⎯(𝑡ଵ + 𝑡௡)

16, 21, 26, 31, … … 1001

4, 8, 12, 16, … … 400
3, 5, 7, 9, … … … 371
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